Berechnungs-Beispiel
PFE

Strong-Tie

Beispiel:

Pfette 60/160 an Binder,

Gewahlter Verbinder: ;

2 Stiick PFE210 N
Mit je 4 CNA4,0x40 Kammnagel f

FPfette

Mittelmarkierung l;
Belastung: auf dem PFE

j Balken

F1,d = 3,9 kN
F3,d = 0,8 kN
NKL. 2 ; KLED kurz — kmneg = 0,9

Werte aus der Tabelle (Website/Katalog):

R14=(9,0/0,9)x0,9/1,3=6,9kN
oder 13,1 x 0,9/ 1,3 =9,1 kN (nicht malRgebend)

Rsa=(3,0/0,9)x0,9/1,3 = 2,3 kN (nicht maRgebend)
oder 3,1x0,9/1,3=2,1kN

Nachweis:
3,9 N 0,8
6,9 2,1

=095<10 - OK
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